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**I can select the appropriate connective.  

 

Complete the sentence using the connective: 

1) Penguins are a type of bird.   , they have beaks, feathers and lay 
eggs. 

2) Emperor Penguins wings are called flippers.    , they do not fly 
because they are too small. 

3) Their coats are made up of four layers of feathers.  _________ they are 
windproof and waterproof. 

4) Male and female penguins look similar.  ________, the females are slightly 
smaller 

5) Emperor penguins can grow up to 115cm. __________, they are the 
largest of 17 species of penguin.  

6) They have a white stomach and a black head. ________________, they 
have thick blubber under the skin to keep them warm in the cold weather. 

 

 

 

 

 

 

However, x 2  

Therefore, x 1 

As a consequence, x 1  

Furthermore, x 1 

Also, x 1 


